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Q1) a-The series impedance of the equwalen circuit ot a long
transmission line has a value on 187/79° Q. If the product
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b-Evaluate the parameter mat/lx of a compensatlon network with
80 % compensatlon factor Iocated atthe end of a hghtly Ioaded
fransmission line which has series |mpedance of 180{ *Qand

4 shunt admittance of j 0.0012 S. [5]
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v, = ve (- %)

Q2) A power system has 4 buses. For a balanced 3-ph at bus 3, the pu
fault current was 5.118 2_',99? and the voltages at busbars 1, 2 and 4
were 0.209, 0.235 and 0.465 respectively all in pu.

a-Evaluate AV, / [5] 3
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/K b-If the line between buses 3 and 4 has an impedance equal /
€ O Numerically to the element @ in the Z,,, matrix, evaluate
~ %//J the current I3, . 4 [8]
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51" 03)3 Prove that for a Y-connected system, its line voltages have NO

i ZFro sequence components. [5]
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b-A balanced Y-connected load with isolated neutral has a pu
/\ impedance of 1 [E) per phase.If its pu voltages are given as:
v

V1=0.98/75°  Vi¥=0.23/220°
Use the concept of symmetrical components to evaluate
/ /§ the complex power supplied to load. [13]
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Q4) Fig. 1 shows the pu zero sequence network of a given power system,
: Where between each indicated 2 points there is one component.
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G - a-Draw the corresponding single-line diagram of the system. [10]
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2 b-1f for a fault at point m ¥ =0.5 /30° PU, evaluate V. ° (6]
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